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101|R#A7 L 159 69 90| Kg |EE 1,728 432\ s 2,700 540
102|357 L 2,328 2,328| Kg S - BIE 3,845 540
111|&EEF £ 520 8 512| Kg |EE 270 K5 - Al 1,890 436
113|RAV S 5 2 3| Keg |EE 863 431| & 3,240 1,620
114|B5EFE 251 251 Kg BRE - &E 2,592 324
121|pblE & 96 40 56| Kg |EE 1,404 215| 5 1,620 702
134[#= = 246 121 125 Kg |8 - =45 3,300 2,160| &£ 5,400 1,620
137|&FE5 < 171 124 47| Keg |EE 4,212 1,620 (&1 6,267 3,672
140(5 I 31 31| Kg b 46,800 22,500
147|E2 O 66 66| Kg |EE 5,944 4,000 42 8,640 5,000
158|EFEA A LS 425 425| Kg S40 1,944 1,080
201{Lvb L 1,169 1,169 Kg BE - )1l 459 144
203|/hd L 184 184| Kg = 351 243
205|3L8 L 320 320| Kg L 540 475
206| = 1F 340 340| Kg = 1,037 540
207| & A% 40 40| Kg imE 783

208| Mo % 194 194| Kg ML 1,944 605
2094 B & L 125 125| Kg = 972

212|&5E.3 Y 991 991| Kg BiE 2,938 1,080
251|< %<3 323 323| Kg FIE 7,344 3,563
252| VA EECH 74 74| Kg £4fH 3,240

254|E b ECH 755 755  Kg L 2,430 1,080
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303[A 27z 9 9] Kg . 396

305|xAah>0b 13 13| Kg i 5,400 1,620
315|7: B9 6 42 421 Kg = I 2,700 2,592
319|2h o 29 29 Kg & 2,754 1,404
332|= 13 WA =EF 219 2191 Kg Bl = 2,916 2,484
351(4EH 18 18| Kg w5 9,720 3,780
35411FxE<Y 75 70 Kg 1,620 P E 1,728 324
355(mp Y 215 215 Kg EH - P E 1,620 432
356(L L& 65 65 Kg SER 1,512 972
357|7RE 66 66 Kg w5 1,944 540
358|KE 10 10| Kg FAN 2,160

362| & 418 418 Kg FJE 2,970 432
401|H W 7 71 Kg FAN 2,376

4025 5 &E 10 10| Kg A0 5,400 4,860
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AEHA LY 53 53 Kg 2P 1,147 1,096
AEA L 135 135] Kg JbiF 1,430 950
AERBAT AT 580 580 Kg 2P 5,724 972
BRCZEZV 21 21| Kg 2yl 1,710 1,620
E A AE 10 10| Kg F 750 500
TRE 29 29| Kg JbiF 1,037 972
AT Z 307 307 Kg 2P 3,290 1,050
AR 5 5 Kg biF 3,888

AR T 69 69| Kg A - dbF 1,620 950
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70110 BA 529 529 Kg FJE 4,536 648
02| E 360 360 Kg F) 3,996 3,672
710(2 2 AT 10 10| Kg Ko 1,512 1,125
BlEFAI L 240 201 39| Kg |EE 829 725| = 960 699
755|FH&» C 45 45  Kg bF 792 679
760|# FE L 805 715 90| Kg |F - KE 1,851 1,000 R 1Ly 1,929 1,273
76l|b Y AEE 6 6 Kg FO&rL 2,844
76713725 WD 219 219 Kg EE 1,188 1,080
801 [3BATL = 1S 74 T4 Kg FE-mA 1,728 540
802|111 20 201 Kg blo ] 1,350 1,296
805 = 1E 580 5801 Kg bF 994 324
810|BAKTF 96 96| Kg biF 2,638 2,376
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